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Paper P-103 ﬂ‘

. TrmeAl!owec! I'hree Hours -~ -
‘ Maxrmum Marks 70

| Note There are two sectrons Attempt any four questrons
from sectlon A and any three from sectlon B:

dnlinreBU.co’m N i I TR Sectlon-A | S

B - _Note;_.Attempt any four questrons Each queotlon carries 7 :

N marks |

a1 V_D|stmgursh between classrflcatron and tabulatron

DISCUSS the purpose and methods of classnflcatlon -

o LT What do you mean by ‘Central tendency ? Descnbe
L B ‘the advantages and droadvantages of mean and

- mode.

~Copies500 - uAart T N o uAstt o e
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(QH( Explaln how the standard devratton quartlle dev:atlon

onImeBU com

l,:,

and mean dewatton Dlscuss the c1rcumstances |n T

Wthh they may be used

' ;Q.l\r What do you understand by moments ? Dlscuss' o

vanous types of moments and thelr mterrelatlons
‘QV*
: —t and +1.

L@’( Defme bmomlal dlstrlbutlon State the oondltlons

under Wthh blnomlal probablhty model is appropnate SR

2o

Q Vll

hypothes;s Descrlbe brlefly the. procedure of testlng o

a hypothesus

| Q. Vlll erte a short note cn the . control charts fer e

attnbutes

Sectton B . R e

f Note Attempt any three questlons

All questlons carnes 14 equal marks

The sum of 50 observatton |n 500 and sum of thelr S

S squares is” 6000 and median ‘is 12 Compute the

coefflolent of varlatlon .and coefflment of skewness
UA 311
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Prove that the coetflcnent of oorrelatlon lles between o

Explam the concept of. stgmfrcance ln test of

Contd ..... :

3
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‘The data about the sates and advertlsement

_ expendlture of" a flrm is’ glven below— :

\ Sales | r"Advfertisement_

in crores‘ Expendtture S
' : of RS_-) " (ln corors ofRs)V"
:‘:Means . S0 :. s
o Standarddevnatlon - 10 no e “

15
Coefﬂctent of correlatson = r = O 9

( ) Estlmate the ltkely sales for a. proposed?
o adverttsement expendlture of Rs 10 crores. o

”"f(b) What- should be the advertlsement expendlture
L f the firm proposes a sales target of 60 crores of -
- rupees 7 ' B

7 A probtem in stat:stlos is glven to two students A and v
| ‘-'B The odds m favour of A solvnng problems are 6to b
9 and agamst B solvrng the problems are 12 to 10 f
",jfboth A and B attempt fmd the probablllty of the'
i problem belng solved I o

‘.jffExplaln the concept of rndependence and mutually‘

S "excl !

- '|ndependent events then prove that A and B are also‘ o
| mdependent S AR

UAaIT "‘\‘ PTO.

rveness of two events A and B. If A and B are



